Math 447 - Probability - Section 1 - Spring 2025

Selected Solutions for Spring 2025 Quizzes

Quiz 01:
#1 (a): Obvious choice for Q: Q@ = {RR, RB, RG, BR, BB, BG, GR, GB, GG }.

Then, P{w} = . #1 (b): P(4;) = #1 (c): P(As) =

#2: See Definition 1.2 #3: See Definition 2.5
#4:[0.8] Use (AUB)\ (AAB) = AnB and A'U Bt = (AN B)E:

Quiz 02:

#1:’ False, False, False, True, False ‘ ’160, 160‘
#2:[[-8.5] #3:[{w e Q: Y (w) € BY] #4: %
Quiz 03:

#1: h(z) = T h@)dz =[0] [ ho(e)de = Tim [ (o)de =

#2: D is one half of the quad [0,2] x [0,2] x [0, 3] when one slices it diagonally with the plane that
contains the points (0,0,0) and (0,2,2). Thus, A*(D) = 6. Thus, [ ¢(7) - 1p(%)dZ =

#3: See lecture notes



